


Space For Rough Work Class-VI/02

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM : 2023-24

CLASS : VI - PRACTICE PAPER
01. The blades of a moving fan show :

(1) rectilinear motion (2) rotatory motion
(3) translatory motion (4) oscillatory motion

02. A body is said to be in motion, if with passage of
time, its position changes :
(1) with respect to its surroundings
(2) with respect to an observer
(3) either ‘1’ or ‘2’
(4) None of these is correct

03. The unit of measurement used to measure
distance between Delhi and Agra is :
(1) decimeter (2) kilometre
(3) centimetre (4) Any of these

04. When a force of 10 N is applied on a body it starts
moving with a constant acceleration of 2 m/s2.
The mass of the body is :
(1) 2 kg (2) 0.2 kg (3) 20 kg (4)5 kg

05. A stone falling from the roof of a house due to :
(1) gravitational force (2) magnetic force
(3) frictional force (4) electrostatic force

06. The SI unit of force is :
(1) newton (2) dyne
(3) pascal (4) none of these

07. Which of these materials could produce a shadow?
(1) A clear glass slab
(2) A transparent object
(3) Clear water
(4) A piece of wood

08. In a pinhole camera, the image formed is :
(1) erect (2) inverted (3) smaller(4) larger

09. To make an electric circuit a closed circuit
should be provided with a bulb having a ________.
(1) broken filament
(2) no filament
(3) its filament intact
(4) None of these

10. If we add another bulb in series, to an electric
circuit that is provided with a glowing bulb, then:
(1) the new bulb will glow but the first one will

not glow
(2) none of the two bulb will glow
(3) both the bulbs will glow but less brightly
(4) both the bulbs will glow but mroe brightly

01. pyrs gq,  i a[ ksa dk CysM n' kkZrk gS µ
(1) jSf[ kd xfr (2) ?kw.kZu xfr
(3) LFkkukarfjr xfr (4) nksyu xfr

02. fdl h oLrq dks xfr esa dgk t k l drk gS] ; fn l e;  ds chrus ds
l kFk bl dh fLFkfr
(1) ml ds pkjks vksj ds l ki s{k cnyrh gS
(2) i zs{kd ds l ki s{k
(3) ; k rks ‘1’ ; k ‘2’
(4) buesa l s dksbZ l gh ugha gS

03. fnYyh l s vkxjk ds chp dh nwjh dks eki us ds fy,  mi ; ksx fd; k
t kus okyk eki d dh bdkbZ gS—
(1) Msl hehVj (2) fdyksehVj
(3) l saVhehVj (4) buesa l s dksbZ ugha

04. t c fdl h oLrq i j 10 N dk cy yxk; k t krk gS rks ; g
2 m/s2 ds fu; r Roj.k l s xfr djuk i zkjaHk djrh gS A oLrq dk
nzO; eku gS—
(1) 2 kg (2) 0.2 kg (3) 20 kg (4)5 kg

05. , d i RFkj fdl h ?kj ds Nr l s fxjrk gS—
(1) xq#Rokd"kZ.k cy ds dkj.k (2) pqEcdh;  cy ds dkj.k
(3) ?k"kZ.k cy ds dkj.k (3) fo| qrLFkSfrd cy ds dkj.k

06. cy dk SI ek=kd gS %
(1) U; wVu (2) Mkbu
(3) i kWLdy (4) buesa l s dksbZ ugha

07. buesa l s dkSu&l k i nkFkZ Nk; k cuk l drk gS \

(1) , d l ki Q dk¡p dk LySc (2) , d i kjn' khZ oLrq

(3) l ki Q i kuh (4) ydM+h dk VqdM+k
08. fdl h fi u fNæ dSejs esa] cuk gqvk i zfrfcEc gS—

(1) l h/ k (2) mYVk (3) NksVk (4)cM+k
09. fo| qr i fj i Fk cukus ds fy, ] ___________ okys cYc ds l kFk

, d can i fj i Fk mi yC/  djk; k t kuk pkfg,  A
(1) VwVk gqvk rarq
(2) fcuk rUrq
(3) rUrq ds l kFk
(4) buesa l s dksbZ ughaA

10. ; fn ge fo| qr i fj i Fk esa , d vU;  cYo dks J¡̀[ kyk esa t ksM+rs gSa]
t ks , d t yrk gqvk cYc i znku djrk gS] rks &
(1) u; k cYo t ysxk ysfdu i gyk cYo ugha t ysxk
(2) nksuksa esa l s dksbZ cYc ugha t ysxk
(3) nksuksa cYc t ysxk i jUrq de pedsxk
(4) nksuksas cYc t ysxk i jUrq v f/ d pedsxk
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11. It is simple device used in electric circuits to
make or break the electric circuit. It is :
(1) a filament of bulb (2) electric cell
(3) electric switch (4) insulators

12. Which of the following is a non-magnetic
material ?
(1) Iron (2) Cobalt
(3) Nickel (4) None of these

13. Which part of a bar magnet will attract the
maximum number of iron nails when it is
brought near a heap of iron nails ?
(1) North pole (2) South pole
(3) Middle portion (4) Near both poles

14. Which of the following statement(s) is/are
correct ?
(1) A freely suspended bar magnet always points

in East-North direction.
(2) Glass is not a magnetic substance
(3) Plastic is a magnetic substance
(4) All the above are correct

15. Ice changes to water through the process of :
(1) freezing (2) evaporation
(3) melting (4) condensation

16. Liquid water changes to water vapour by the
process of :
(1) evaporation (2) condensation
(3) precipitation (4) freezing

17. What does heat from the sun cause liquid water
to do ?
(1) evaporate into the air
(2) travel deeper into the soil
(3) change into a solid
(4) fall from clouds as rain

18. Which of the following are used unstitched even
today ?
(1) Dhoti (2) Saree
(3) Turban (4) All of these

19. Which of the following device is used for weaving?
(1) Charkha (2) Gin
(3) Handloom (4) Hand spindle

20. Charcoal burning on the grill is an example of
__________ .
(1) physical change (2) chemical change
(3) periodic change (4) reversible change

21. Which fibre yielding plant is grown during rainy
season ?
(1) jute (2) cotton (3) flax (4)hemp

11. fo| qr i fj i Fk dks rksM+us vkSj t ksM+us ds fy,  mi ; ksx fd; k t kus okyk
l jy mi dj.k gS &
(1) cYc dk , d fi QykesaV (2) fo| qr l sy
(3) fo| qr dq¡t h (4) l aokgd

12. fuEu esa l s dkSu vpqEcdh;  i nkFkZ gS\
(1) yksgk (2) dksckYV
(3) fudsy (4) buesa l s dksbZ ugha

13. ykSgs dh dhyksa ds <sj ds i kl  yk,  t kus i j NM+ pqEcd dk dkSu&l k
Hkkx ykSgs dh dhyksa dh v f/ dre l a[ ; k ds vkdf"kZr djsxk\
(1) mÙkjh / zqo (2) nf{k.kh / qzo
(3) eè;  Hkkx (4) nksuksa / qzoksa ds i kl

14. fuEufyf[ kr esa dkSu&l k dFku l gh gS@gSa
(1) , d Lora=k : i  l s yVdk NM+&pqEcd ges' kk i woZ&mÙkj fn' kk

dh vksj fpfÉr djrk gS A
(2) dk¡p pqEcdh;  i nkFkZ ugha gS
(3) IykfLVd , d pqEcdh;  i nkFkZ gS
(4) mi ; qZDr l Hkh l gh gS A

15. ci ZQ dk t y esa i fjorZu fdl  i zfØ; k }kjk gksrk gS \
(1) t euk (2) ok"i hdj.k
(3) fi ?kyuk (4) l a?kuu

16. nzo t y fdl  i zfØ; k }kjk t yok"i  esa i fjo£rr gksrk gS \
(1) ok"i hdj.k (2) l a?kuu
(3) vo{ksi .k (4) t euk

17. l w; Z l s mRl £t r mQ"ek nzo t y dk D; k djrk gS \
(1) gok esa okf"i r dj nsrk gS A
(2) feV~Vh esa xgjkbZ rd t krk gS A
(3) Bksl  esa cnyrk gS A
(4) cknyksa l s o"kkZ ds : i  esa fxjrk gS A

18. fuEu esa l s fdl s vkt rd fcuk fl ys mi ; ksx esa yk; k t krk gS\
(1) / ksrh (2) l kM+h
(3) i xM+h (4) buesa l s l Hkh

19. fuEu esa l s fdl  mi dj.k dk mi ; ksx cquus ds fy,  fd; k t krk gS\
(1) pj[ kk (2) fxu
(3) gFkdj/ k (4) rdyh

20. fxzy i j pkjdksy dk t yuk __________ dk , d mnkgj.k gSA

(1) HkkSfrd i fjoÙkZu (2) jkl k; fud i fjoÙkZu

(3) vkoÙkhZ i fjoÙkZu (4) mRØeuh;  i fjoÙkZu

21. dkSu l k js' kk i zkIr djus okyk i kS/ k o"kkZ Í rq esa mxrk gS\

(1) t wV (2) di kl (3) ÝySDl (4) l u
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22. Which of the following is the leading country for
the production of Jute ?
(1) India (2) Bangladesh
(3) Pakistan (4) China

23. Which of the following cannot be grouped in the
same group as others on the basis of their shape?
(1) Football (2) Cricket ball
(3) Glass marble (4) Tripod stand

24. Which of the following is not a solid substances?

(1) Wooden block (2) Iron nail

(3) Glass tumbler (4) Honey

25. Find the odd one out from the following.

(1) Rose (2) Jasmine

(3) Boat (4) Marigold

26. Identify the materials(s) miscible in water ?

(1) Salt (2) Sugar

(3) Vinegar (4) All of these

27. Which of the following object will sink in water?

(1) Rose petals (2) Brick

(3) Saw dust (4) All of these
28. Handles of utensils that are made up of metals

become hot on cooking. This is due to :
(1) Transparency (2) Conduction
(3) Hardness (4) Rough surface

29. Select a reversible change :
(1) milk to paneer
(2) growth of a tree
(3) cow-dung to biogas
(4) ice-cream to molten ice cream

30. What is difference between making of furniture
from wood and burning of wood ?
(1) First is irreversible and second is reversible

change
(2) First is physical and second is chemical

change
(3) First is fast and second is slow change
(4) First is periodic and second is non-periodic

change
31. What happens to the metals on heating :

(1) They expand
(2) They contract
(3) They remains unaffected
(4) None of these

32. When a new substance is formed with different
properties than the original substance it is called :
(1) chemical change (2) physical change
(3) freezing (4) boiling

22. fuEu esa l s dkSu t wV ds mRi knu ds fy,  mxz.kh ns' k gS\
(1) Hkkjr (2) ckaXykns' k
(3) i kfdLrku (4) phu

23. fuEu esa l s fdl s muds vkdkj ds vk/ kj i j ml h l ewg esa l ekfgr
ugha fd; k t k l drk gS\
(1) i qQVckWy (2) fØdsV ckWy
(3) Xykl  ekcZy (4) Vªkbi kWM LVSaM

24. fuEu esa dkSu l k Bksl  i nkFkZ ugha gS\
(1) ydM+h dk xqVdk (2) yksgs dh dhy
(3) dk¡p dk fxykl (4) ' kgn

25. fuEu esa l s fHkUu dks Kkr djsaA
(1) xqykc (2) t Sl feu
(3) uko (4) xsank

26. ml  i nkFkZ dks Kkr djsa t ks t y esa ?kqyu' khy gS\
(1) ued (2) phuh
(3) fl jdk (4) buesa l s l HkhA

27. fuEu esa l s dkSu l h oLrq t y esa Mwcsxh\
(1) xqykc dh i a[ kqM+h (2) bZaV
(3) / wy (4) bueas l s l Hkh

28. / krqvksa l s cus cÙkZuksa ds gSaMy [ kkuk i dkus i j xeZ gks t krs gSaA bl dk
dkj.k gS &
(1) i kjnf' kZrk (2) l aokgu
(3) dBksjrk (4) [ kqjnqjh l rg

29. mRØeuh;  i fjoÙkZu dks pqusa &
(1) nw/  l s i uhj
(2) ò{k dk òf¼ djuk
(3) xks; Bk l s ck; ksxSl
(4) vkbl Øhe l s fi ?kyk vkbl Øhe

30. ydM+h l s est  dk cuuk vkSj ydM+h ds t yus] nksuksa esa D; k varj
gS\
(1) i gyk vuqRØeuh;  vkSj nwl jk mRØeuh;  i fjoÙkZu gSA
(2) i gyk HkkSfrd vkSj nwl jk jkl k; fud i fjoÙkZu gSA
(3) i gyk rhoz vkSj nwl jk / hek i fjoÙkZu gSA
(4) i gyk vkoÙkhZ vkSj nwl jk vukoÙkhZ i fjoÙkZu gSA

31. xeZ djus i j / krqvksa esa D; k gksrk gS &
(1) os i QSyrs gSaA
(2) os fl dqM+rs gSaA
(3) os v i zHkkoh jgrs gSaA
(4) buesa l s dksbZ ughaA

32. t c okLrfod i nkFkZ l s fHkUu xq.k okyk u; k i nkFkZ curk gS og
dgykrk gS &
(1) jkl k; fud i fjoÙkZu (2) HkkSfrd i fjoÙkZu
(3) t euk (4) mcyuk



Space For Rough Work Class-VI/05

33. Artificial ripening of fruit is a :
(1) reversible change
(2) periodic change
(3) irreversible change
(4) fast change

34. __________ mainly provide energy to our body
(1) Vitamins (2) Fats
(3) Carbohydrates (4) Proteins

35. Which of the following is the source of
vitamin D in the given figure?

(1)

(2)

(3)

(4)

36. When unwanted plant grow in crop field then it
is called :
(1) Shrub (2) Herbs
(3) Weed (4) Grasses

37.
Carrot, Radish, Sweet potato, Maize,
Wheat, Potato, Turnip, Tapioca

Root is edible part in how many of the above
plants
(1) 5 (2) 6 (3) 4 (4)7

38. How many bones are present in human Skeleton
at birth?
(1) 206 (2) 300 (3) 305 (4)209

33. i Qyksa dk df̀=ke : i  l s i duk gS &
(1) mRØeuh;  i fjoÙkZu (2) vkoÙkhZ i fjoÙkZu
(3) vuqRØeuh;  i fjoÙkZu (4) rhoz i fjoÙkZu

34. __________ eq[ ; r% gekjs ' kjhj dks Åt kZ i znku djrs gSaA
(1) foVkfeu (2) ol k
(3) dcksZgkbMªsV (4) i zksVhu

35. fn,  x,  fp=k esa fuEu esa l s dkSu foVkfeu D dk L=kksr gS\

(1)

(2)

(3)

(4)

36. t c vokaNuh;  i kS/ k i Ql y ds [ ksr esa mx t krs gS rks dgykrs gSa&
(1) >kM+h (2) i kS/ k
(3) [ kj&i rokj (4) ?kkl

37.
xkt j ] eywh] ' kdjdUn] edb]Z xgs¡w

vky]w ' kyxe] VfSi vkdsk

mi ; qZDr i kS/ ksa esa fdrus esa t M+] [ kkus ; ksX;  fgLl k gS &
(1) 5 (2) 6 (3) 4 (4)7

38. t Ue ds l e;  ekuo dadky esa fdruh gfM~M; k¡ mi fLFkr gksrh gSa\
(1) 206 (2) 300 (3) 305 (4)209
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39. Match Column I with Column II
Column I Column II

(a) Hinge joint (i) Neck joint
(b) Pivot joint (ii) Knee joint
(c) Ball and socket joint (iii) Hip joint
(d) Gliding joint (iv)Wrist joint
(1) (a) = (ii), (b) = (iv), (c) = (i), (d) = (iii)
(2) (a) = (ii), (b) = (i), (c) = (iii), (d) = (iv)
(3) (a) = (ii), (b) = (iii), (c) = (i), (d) = (iv)
(4) (a) = (i), (b) = (ii), (c) = (iii), (d) = (iv)

40. Cactus plants grow in the desert where there is
scarcity of water, to prevent loss of water from
the surfaces, leaves are modified to become :
(1) Stems (2) Spines
(3) Roots (4) both (1) and (2)

41. Our earth is surrounded by a thin layer of _______
and this layer extends up to many kilometres
above the surface of the earth and is called
________.
(1) Water, Atmosphere
(2) Gases, Troposphere
(3) Water, Environment
(4) Air, Atmosphere

42. Which are the two gases which make up 99% of
the air?
(1) Oxygen and Carbon dioxide
(2) Nitrogen and Carbon dioxide
(3) Carbon dioxide and Neon
(4) Nitrogen and Oxygen

43. What is landfill?
(1) Site for the disposal of household waste
(2) Site for the disposal of commercial waste
(3) Site for the disposal of all waste materials
(4) None of these

44. Which of the following statements are incorrect
with respect to redworms?
(1) Redworms do not have teeth
(2) They helps in preparing compost from the

kitchen wastes
(3) They do not survive in very hot or very cold

surroundings
(4) All statement are correct

45. Where is the Ghana National Park located?
(1) Rajasthan (2) Uttarkhand
(3) Andhra Pradesh (4) Tamil Nadu

46. Which of the following seed is like a kidney-
shaped ?
(1) Aniseed (2) Cumin
(3) Rajma (4) Green gram

39. LrEHk I dks LrEHk II l s feyk, ¡
LrEHk I LrEHk II

(a) dCt k l af/ (i) xnZu dk t ksM+
(b) / qjkxz l af/ (ii) ?kqVus dk t ksM+
(c) ckWy vkSj l kWdsV l af/ (iii) fgi  l af/
(d) l al i hZ l af/ (iv)dykbZ dk t ksM+
(1) (a) = (ii), (b) = (iv), (c) = (i), (d) = (iii)
(2) (a) = (ii), (b) = (i), (c) = (iii), (d) = (iv)
(3) (a) = (ii), (b) = (iii), (c) = (i), (d) = (iv)
(4) (a) = (i), (b) = (ii), (c) = (iii), (d) = (iv)

40. dSDVl  dk i kS/ k e: LFky esa òf¼ djrk gS t gk¡ i kuh dh deh gksrh
gS] i Ùkh dh l rg l s i kuh dh deh dks jksdus ds fy,  i fÙk; k¡
: i kUrfjr gksdj cukrh gS &
(1) ruk (2) dk¡Vk
(3) t M+ (4) (1) rFkk (2) nksuksaA

41. gekjh i F̀oh _______ ds rhu i jrksa l s f?kjh gS vkSj ; g l rg i F̀oh
ds l rg ds Åi j cgqr fdyksehVj rd i QSyk gS rFkk ; g  ________
dgykrk gSA
(1) t y] ok; qeaMy
(2) xSl ] Vªksi ksLi sQ; j
(3) t y] i ; kZoj.k
(4) ok; q] ok; qeaMy

42. og dkSu nks xSl s gS t ks ok; q dk 99% cukrk gS\
(1) vkWDl ht u vkSj dkcZu&MkbvkWDl kbM
(2) ukbVªkst u vkSj dkcZu&MkbvkWDl kbM
(3) dkcZu MkbvkWDl kbM vkSj uhvkWu
(4) ukbVªkst u vkSj vkWDl ht u

43. Hkw&Hkjko D; k gS\
(1) ?kjsyw&v i f' k"V ds fui Vku ds fy,  LFkku
(2) vkS| kSfxd v i f' k"V ds fui Vku ds fy,  LFkku
(3) l Hkh v i f' k"V i nkFkksZa ds fui Vku ds fy,  LFkku
(4) buesa l s dksbZ ughaA

44. yky df̀e ds l aca/  esa fuEufyf[ kr esa l s dkSu l k dFku xyr gS\

(1) yky df̀e ds nkar ugha gksrs gSa
(2) os jl ksbZ ds dpjs l s [ kkn rS; kj djus esa enn djrs gSa
(3) os cgqr xeZ ; k cgqr BaMs i fjos' k esa t hfor ugha jgrs gSaa
(4) l Hkh dFku l gh gSa

45. ?kkuk jk"Vªh;  m| ku dgk¡ fLFkr gS\
(1) jkt LFkku (2) mÙkjk[ k.M
(3) vkU/ z i zns' k (4) rfeyukMw

46. fuEu esa l s dkSu l k cht  fdMuh vkdkj dk gksrk gS\
(1) l kSai Q (2) t hjk
(3) jkt ek (4) gjk puk
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47. Chillies were brought to India by traders coming
from _________ .
(1) South America (2) Africa
(3) U.S.A (4) Paris

48. What is given to a sick person for getting instant
energy?
(1) Chocolate (2) Salt
(3) Glucose (4) Fruit

49. How many hours a day do python sleep?
(1) 36 hours (2) 18 hours
(3) 5 - 6 hours (4) 6 hours

50. Which of the following term constitute the male
part of the flower?
(1) Style and Anther
(2) Stigma and Style
(3) Filament and Ovule
(4) Anther and Filament

51. The greatest of the numbers
123, 27, 650, 2342, 40000 is :

(1) 40000 (2) 2342 (3) 27 (4) 650
52. Using the digits 1, 2, 3, 4 without repetition,

the greatest 4-digit number that can be made
is :

(1) 4321 (2) 4312 (3) 4213 (4)4231
53. The natural number that has no predecessor

in it, is

(1) 1 (2) 10 (3) 100 (4)1000
54. Which of the following numbers is not a factor

of 68 ?
(1) 2 (2) 4 (3) 17 (4) 6

55. Which of the following numbers is not a factor
of 36 ?
(1) 2 (2) 4 (3) 18 (4) 8

56. Two intersecting lines intersect in :
(1) 1 point (2) 2 points
(3) 3 points (4) 4 points

57. The angle measure for one complete revolution
is :
(1) 180° (2) 360°
(3) 90° (4) none of these

58. The succeeding number of the number 0 is :
(1) – 1 (2) 0 (3) 1 (4)11

59. The fraction representing the shaded portion is:

(1)
1
4

(2)
3
4

(3)
5
4

(4)
7
4

47. fefpZ; ksa dks  _________ l s vkus okys O; ki kfj; ksa }kjk Hkkjr yk; k
x; k gSA
(1) nf{k.k vesfjdk (2) v i zQhdk
(3) U.S.A (4) i sfj l

48. r jar Åt kZ i zkIr djus ds fy,  chekj O; fDr dks D; k fn; k t krk gS\
(1) pkWdysV (2) ued
(3) Xywdkst (4) i Qy

49. i k; FkkWu , d fnu esa fdrus ?kaVs l ksrk gS\
(1) 36 ?kaVs (2) 18 ?kaVs
(3) 5 - 6 ?kaVs (4) 6 ?kaVs

50. fuEu esa l s dkSu l k i n i q"i  ds uj fgLl s dks cukrk gS\
(1) ofrZdk rFkk i jkxdks' k
(2) ofrZdkxz rFkk ofrZdk
(3) rUrq rFkk cht kaM
(4) ofrZdkxz rFkk rUrq

51. l a[ ; kvksa 123, 27, 650, 2342, 40000 esa l cl s cM+h l a[ ; k
gS &
(1) 40000 (2) 2342 (3) 27 (4) 650

52. vadksa 1, 2, 3, 4 dks fcuk nqgjk; s mi ; ksx dj] 4 vadksa dh l cl s
cM+h l a[ ; k cuk; k t k l drk gS&
(1) 4321 (2) 4312 (3) 4213 (4)4231

53. og i zkdr̀ l a[ ; k ft l dh i woZoÙkhZ l a[ ; k ugha gS &

(1) 1 (2) 10 (3) 100 (4)1000

54. fuEu esa l s dkSu l h l a[ ; k 68 dk xq.ku[ k.M ugha gS?
(1) 2 (2) 4 (3) 17 (4) 6

55. fuEu esa l s dkSu l h l a[ ; k 36 dk xq.ku[ k.M ugha gS ?
(1) 2 (2) 4 (3) 18 (4) 8

56. nks i zfrPNsnd js[ kk, ¡] i zfrPNsn djrh gS &

(1) 1 fcUnq esa (2) 2 fcUnqvksa esa

(3) 3 fcUnqvksa esa (4) 4 fcUnqvksa esa

57. , d i w.kZ pDdj ds fy,  eki k x; k dks.k gS &
(1) 180° (2) 360°

(3) 90° (4) buesa l s dksbZ ughaA

58. l a[ ; k 0 ds vkxs dh l a[ ; k gS &
(1) – 1 (2) 0 (3) 1 (4)11

59. Nk; kafdr Hkkx dks fu: fi r  djus okyk fHkUu gS &

(1)
1
4

(2)
3
4

(3)
5
4

(4)
7
4
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60. v i kyk 20 m yEcs vkSj 10 m pkSM+s i kdZ t krh gSA og bl dk , d
i wjk pDdj yxkrh gSA ml ds }kjk r;  dh xbZ nwjh gS &
(1) 30 m (2) 60 m (3) 20 m (4)10 m

61. fp=k dk i fjeki  gS &

4mA B

D C
4m

3 m 3 m

(1) 12m (2) 14m (3) 24 m (4) 7 m

62. l eckgq f=kHkqt ] bl ds i zR; sd ---------- ds l ki s{k l e: i  gksrs gSa A

(1) mQ¡pkbZ (2) ekfè; dk

(3) dks.k l ef}Hkkx (4) mi ; qZDr l Hkh

63. , d dye dk ewY;  10 : ñ gSA , d i safl y dk ewY;  2 : ñ gSA
i safl y dk ewY; ] dye ds ewY;  l s fdruk xquk gS\

(1) 5 xquk (2) 2 xquk

(3) 10 xquk (4) buesa l s dksbZ ughaA

64. fdl h d{kk esa 30 yM+ds rFkk 20 yM+fd; k¡ gSaA yM+fd; ksa dh l a[ ; k
vkSj yM+dksa ds l a[ ; k dk vuqi kr gS &

(1) 2:3 (2) 3:2 (3) 2:5 (4) 3:5

65. fp=k esa fdruh l okZaxl e Hkqt k, ¡ gS\

(1) 1 (2) 2 (3) 3 (4) 4

66. 7 ct s i wokZg~u l w; Z dh fdj.kksa vkSj t ehu i j fdl h fcUnq ds chp
dk dks.k 43° gSA 10 ct s i wokZg~u ; g dks.k D; k gksuk pkfg, \
(1) 40° (2) 90°

(3) 43° rFkk 90° ds chp (4) 90° l s v f/ d
67. 1.1  .1 .01 = ?

(1) .11 (2) .011
(3) .0011 (4) buesa l s dksbZ ugha

68. nks n' keyoksa dk xq.kui Qy 1-5008 gS A ; fn muesa l s , d 0-56 gS
rks vU;  dks Kkr djsa A
(1) 3.62 (2) 2.68 (3) 4.58 (4)9.68

69. (2x2 – 5x + 7) dks (3x2 + 4x – 6) l s ?kVk, ¡ A
(1) x2 + 9x – 13 (2) x2 – 9x – 14

(3) x2 + 8x – 13 (4) x2 + 6x – 12

60. Apala went to a park 20 m long and 10 m wide.
She took one complete round of it. The distance
covered by her is :

(1) 30 m (2) 60 m (3) 20 m (4)10 m
61. The perimeter of the figure is :

4mA B

D C
4m

3 m 3 m

(1) 12m (2) 14m (3) 24 m (4) 7 m
62. An equilateral triangle is symmetrical about

each of its _______.

(1) altitudes (2) medians

(3) angle bisectors (4) all of the above

63. The cost of a pen is j  10. The cost of a pencil is
j  2. How many times of the cost of a pencil is
the cost of a pen ?
(1) 5 times (2) 2 times

(3) 10 times (4) none of these
64. There are 30 boys and 20 girls in a class. The

ratio of the number of girls to the number of
boys is :

(1) 2:3 (2) 3:2 (3) 2:5 (4) 3:5
65. How many lines of symmetry does the figure

have ?

(1) 1 (2) 2 (3) 3 (4) 4
66. At 7 a.m. the angle between the Sun’s ray and

the ground at a point is 43°. What would be the
angle at 10 a.m. ?
(1) 40° (2) 90°
(3) Between 43° and 90° (4) Greater than 90°

67. 1.1  .1 .01 = ?
(1) .11 (2) .011
(3) .0011 (4) none of these

68. The product of two decimals is 1.5008. If one of
them is 0.56, find the other.
(1) 3.62 (2) 2.68 (3) 4.58 (4)9.68

69. Subtract (2x2 – 5x + 7) from (3x2 + 4x – 6).
(1) x2 + 9x – 13 (2) x2 – 9x – 14
(3) x2 + 8x – 13 (4) x2 + 6x – 12
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70. Solve for x :

1 1 1 3x x x
4 6 2 4

   .

(1) 9 (2) 11 (3) –9 (4)14

71. Nine added to thrice a whole number gives 45.
Find the number.

(1) 16 (2) 24 (3) 18 (4)12

72. By what number should we multiply 3–9 so that
the product is equal to 3 ?

(1) 39 (2) 310 (3) 3–10 (4) 311

73. The sum which will earn a simple interest of
 126 in 2 years at 14% per annum is :

(1)  394 (2)  395 (3)  450 (4)  540
74. On reducing the value of a chain by 6%  it

becomes  658. The original value of the chain
is

(1)  750 (2)  720 (3)  500 (4)  700
75. The ratio of the area of a square of side a and

that of an equilateral triangle of side a, is :

(1) 2 : 1 (2) 2 : 3 (3) 4 : 3 (4) 4 : 3

76. P can do a piece of a work in 9 days. Q is 50%
more efficient than P. The number of days it
takes Q to do the same piece of work is ______ .

(1)
113
2 (2)

14
2 (3) 6 (4)3

77. (–27)  (–16) + (–27) (–14) = ?

(1) –810 (2) 810 (3) –54 (4)54

78. What should be added to 
215
3  to get 

518
6  ?

(1)
12
7

(2)
34
2 (3)

13
6 (4)

52
4

79.
3 3 31 1 1 ?

3 2 4

                 
       

(1)
19
64 (2)

64
19

(3)
27
16 (4) none of these

80. What must be added to each term of the ratio
3 : 5 so that the new ratio becomes  5 : 6 ?

(1) 2 (2) 4 (3) 7 (4)12

70. x ds fy,  l jy djsa &
1 1 1 3x x x
4 6 2 4

  

(1) 9 (2) 11 (3) –9 (4)14

71. fdl h i w.kZ l a[ ; k ds rhuqus esa ukS t ksM+us i j 45 gksrk gS A l a[ ; k Kkr
djsa A
(1) 16 (2) 24 (3) 18 (4)12

72. gesa 3–9 esa fdl  l a[ ; k l s xq.kk fd; k t kuk pkfg,  fd xq.kui Qy
3 gks t k,  \
(1) 39 (2) 310 (3) 3–10 (4) 311

73. og jkf' k t ks 2 o"kksZa esa 14» i zfr o"kZ dh nj l s  126 l k/ kj.k
C; kt  i zkIr djrk gS &

(1)  394 (2)  395 (3)  450 (4)  540

74. fdl h psu ds ewY;  dks 6» l s de djus i j ; g  658 gks t krk
gS A psu dk okLrfod eku gS &

(1)  750 (2)  720 (3)  500 (4)  700

75. Hkqt k a okys fdl h oxZ rFkk Hkqt k a okys l eckgq f=kHkqt  ds {ks=ki Qy
dk vuqi kr gS &

(1) 2 : 1 (2) 2 : 3 (3) 4 : 3 (4) 4 : 3

76. P fdl h dke ds dqN fgLl s dks 9 fnuksa esa i wjk djrk gS A Q, P l s
50» v f/ d i qQrhZyk gS A Q bl h dk; Z dks ______ fnuksa esa i wjk
djrk gS A

(1)
113
2 (2)

14
2 (3) 6 (4)3

77. (–27)  (–16) + (–27) (–14) = ?

(1) –810 (2) 810 (3) –54 (4)54

78.
215
3  esa fdruk t ksM+k t kuk pkfg,  fd gesa 518

6  i zkIr gks t k, ?

(1)
12
7

(2)
34
2 (3)

13
6 (4)

52
4

79.
3 3 31 1 1 ?

3 2 4

                 
       

(1)
19
64 (2)

64
19

(3)
27
16 (4) buesa l s dksbZ ugha

80. vuqi kr 3 % 5 ds i zR; sd i n esa fdruk t ksM+k t kuk pkfg,  fd u; k
vuqi kr 5 % 6 gks t k,  \
(1) 2 (2) 4 (3) 7 (4)12
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81. Given below are four figure out of which three
are alike in some manner. Find that figure
which differs from the rest of the figures.

(1) (2)

(3) (4)

82. Given below are four figure out of which three
are alike in some manner. Find that figure
which differs from the rest of the figures.

(1) (2)

(3) (4)

83. Find the figure from the Answer figure (A), (B),
(C) and (D) which would continue the series of
the four figures (1), (2), (3) and (4).

(A) (B) (C) (D)

(1) (2)

(3) (4)

84. A man said to a lady, “Your mother’s” husband’s
sister is my aunt.” How is the lady related to the
man ?

(1) Daughter (2)Mother

(3) Sister (4)Aunt

85. Reena is twice as old as Suneeta. Three years
ago, she was three times as old as Suneeta. The
present age of Reena is :

(1) 6 (2) 7 (3)8 (4) 12

81. uhps pkj fp=k fn,  x,  gSa ft l us l s rhu dqN rjhds l s l eku gS A
ml  fp=k dks pqusa t ks vU;  fp=kksa l s fHkUUk gSaA

(1) (2)

(3) (4)

82. uhps pkj fp=k fn,  x,  gSa ft l us l s rhu dqN rjhds l s l eku gS A
ml  fp=k dks pqusa t ks vU;  fp=kksa l s fHkUUk gSaA

(1) (2)

(3) (4)

83. mÙkj fp=k (A), (B), (C) rFkk (D) l s ml  fp=k dks pqusa t ks pkj fp=k
(1), (2), (3) rFkk (4) dh  Ük̀a[ kyk dks i wjk djrk gS A

(A) (B) (C) (D)

(1) (2)

(3) (4)

84. , d vkneh] , d vkSjr l s dgrk gS] ¶vki dh ek¡ ds i fr dh cgu
esjh pkph gS A̧ vkSjr vkneh l s dSl s l acaf/ r gS \

(1) csVh (2)ek¡

(3) cgu (4)pkph

85. jhuk] l quhrk l s nksxquh cM+h gS A rhu o"kZ i gys] og l quhrk l s rhu
xquh cM+h Fkh A jhuk dh orZeku vk; q gS \
(1) 6 (2)7 (3)8 (4)12
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fp=k A, B, C rFkk D i z' u l ewg dks cukrk gS ogha fp=k (1), (2),
(3) rFkk (4) mÙkj l ewg dks cukuk gS A fp=kksa A rFkk B chp , d
fuf' pr l aca/  gS A mÙkj l ewg l s mfpr fp=k D dks pqudj fp=k C
rFkk D ds chp l eku l aca/  LFkkfi r djsa A
( i z' u 86 rFkk 87 ds fy, )

86. i z' u fp=k

(A) (B) (C) (D)

mÙkj  fp=k

(1) (2)

(3) (4)

87. i z' u fp=k

(1) (2) (3) (4)

mÙkj  fp=k

(1) (2)

(3) (4)

88. fuEu fp=k esa f=kHkqt ksa dh l a[ ; k dks fxusa %

(1) 6 (2) 8 (3) 12 (4)10

89. ; fn B = 2, H = 8 rFkk CAB = 6, rks RACE dk l a[ ; k eku
D; k gS \
(1) 31 (2) 30 (3) 28 (4)27

90. l w; ksZn;  ds ckn , d l qcg] xksi ky , d [ kEHks dh vksj eq[ k fd,
[ kM+k Fkk A [ kEHks dh Nk; k i w.krZ% ml ds nk, ¡ curh gS A og fdl
fn' kk esa eq[ k fd,  gq,  gSa \
(1) i woZ (2) i f' pe
(3) i woZ&i f' pe (4) nf{k.k

Figures A, B, C and D constitute the Problem
Set while Figures. (1), (2), (3) and (4) constitute
the Answer set. There is a definite relationship
between figures A and B. Establish a similar
relationship between figures C and D by choosing
a suitable Figure D from the Answer set.
(For Questions 86 and  87)

86. Problem Figure

(A) (B) (C) (D)

Answer Figure

(1) (2)

(3) (4)

87. Problem Figure

(1) (2) (3) (4)

Answer Figure

(1) (2)

(3) (4)

88. Count the number of triangles in the following
figure.

(1) 6 (2) 8 (3) 12 (4)10
89. If B = 2, H = 8 and CAB = 6, then what is the

number value of RACE ?
(1) 31 (2) 30 (3) 28 (4)27

90. One morning after sun rise, Gopal was standing
facing a pole. The shadow of the pole fell exactly
to his right. Which direction was he facing ?
(1) East (2) West
(3) East-west (4) South
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91. Complete the given series :

7, 12, 19, 28, 39, — .

(1) 49 (2) 57 (3) 50 (4)52

92. Find out from amongst the four alternative
figures which would look like the one when the
paper is folded at the dotted line in fig [X].

Transparent paper

Fig. (X)

Answer paper

(1) (2)

(3) (4)

93. If P denotes ÷, Q denotes ×, R denotes + and S
denotes –, then the value of 18Q 12 P 4 R 5 S 6
when simplified gives

(1) 36 (2) 53 (3) 59 (4)65

94. How many 5s are there in the following numbers
series which are immediately followed by 3 but
not immediately preceded by 7 ?

2 1 5 3 2 5 3 8 5 5 6 8 7 3 3 5 7 7 5 3 6 5 3 2 5 7 3 9

(1) One (2) Three (3) Four (4)Five

95. Which letter occurs most often in the word

APPROPRIATE ?

(1) A (2) E (3) R (4)P

96. Choose the best alternative as the answer.

A fan always has

(1) Switch (2) Blades

(3) Current (4) Wire

97. Out of the four figures (1), (2), (3) and (4) given
four are similar in a certain way. However, one
figure is not like the other four, Choose that
figure.

(1) (2)

(3) (4)

91. fn,  x,   Ük̀a[ kyk dks i wjk djsa %
7, 12, 19, 28, 39, — .
(1) 49 (2) 57 (3) 50 (4)52

92. pkj fodYi  fp=kksa esa l s ml  fp=k dks Kkr djsa A t ks ml  i zdkj
fn[ ksxk t Sl s fp=k [X] esa dkxt  dks fcUnq js[ kk ds : i  esa eksM+sxsa A
i kj n' khZ dkxt

Fig. (X)

mÙkj  dkxt

(1) (2)

(3) (4)

93. ; fn P, ÷ dks fu: fi r djrk gS] Q, × dks fu: fi r djrk gS] R,
+ dks fu: fi r djrk gS] rFkk S, – dks fu: fi r djrk gS rks
18Q 12 P 4 R 5 S 6 dks t c l jy djrs gS rks nsrk gS &
(1) 36 (2) 53 (3) 59 (4)65

94. fuEufyf[ kr l a[ ; k Ük̀a[ kyk esa , sl s fdrus S gS t ks 3 ds rqjar i gys
gS i jUrq 7 ds rqjar vkxs ugha gS \
2 1 5 3 2 5 3 8 5 5 6 8 7 3 3 5 7 7 5 3 6 5 3 2 5 7 3 9

(1) , d (2) rhu (3) pkj (4) i k¡p
95. ' kCnAPPROPRIATE esa dkSu&l k v{kj l cl s v f/ d ckj vk; k

gS \
(1) A (2) E (3) R (4)P

96. mÙkj ds fy,  l cl s mfpr fodYi  pqusa %
i a[ ks esa ges' kk gksrk gS \
(1) dq¡t h (2) CysM
(3) fo| qr / kjk (4) rkj

97. fn,  x,  pkj fp=kksa (1), (2), (3) rFkk (4) esa pkjksa fdl h fuf' pr
i zdkj l s l eku gS A ogh , d fp=k vU;  pkjksa l s fHkUUk gS ml  fp=k
dks pqusa %

(1) (2)

(3) (4)
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98. Figures A, B, C and D constitute the Problem
Set while Figures. (1), (2), (3) and (4) constitute
the Answer set. There is a definite relationship
between figures. A and B. Establish a similar
relationship between figures C and D by choosing
a suitable Figure D from the Answer set.
Problem Figure

(A) (B) (C) (D)

(1) (2)

(3) (4)

99. Find the missing number ?

5 4

20 9

98 4

24 ?11 13

3

(1) 52 (2) 36 (3) 117 (4)81
100. If + means –, – means ×, × means ÷ and ÷ means

+, then 15 × 3 ÷ 15 + 5 – 2 = ?
(1) 0 (2)6
(3) 10 (4)20

98. fp=k A, B, C rFkk D i z' u l ewg dks cukrk gS ogha fp=k (1), (2),
(3) rFkk (4) mÙkj l ewg dks cukuk gS A fp=kksa A rFkk B chp , d
fuf' pr l aca/  gS A mÙkj l ewg l s mfpr fp=k D dks pqudj fp=k C
rFkk D ds chp l eku l aca/  LFkkfi r djsa A
i z' u fp=k

(A) (B) (C) (D)

(1) (2)

(3) (4)

99. yqIr l a[ ; k dks Kkr djsa %

5 4

20 9

98 4

24 ?11 13

3

(1) 52 (2) 36 (3) 117 (4)81

100. ; fn + dk eryc –, – dk eryc ×, × dk eryc ÷ rFkk ÷ dk
eryc +, rks 15 × 3 ÷ 15 + 5 – 2 = ?
(1) 0 (2)6
(3) 10 (4)20
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1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

(2)

(3)

(2)

(4)

(1)

(1)

(4)

(2)

(3)

(3)

(3)

(4)

(4)

(2)

(3)

(1)

(1)

(4)

(3)

(2)

(1)

(1)

(4)

(4)

(3)

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.
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ANSWER KEY
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76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

(4)

(2)

(2)

(4)

(2)

(1)

(1)

(3)

(3)

(2)

(3)

(1)

(3)

(2)

(2)

(4)

(4)

(3)

(4)

(1)

(3)

(1)

(3)

(2)

(4)

(1)

(1)

(1)

(4)

(4)

(1)

(2)

(3)

(1)

(2)

(2)

(4)

(1)

(1)

(1)

(3)

(3)

(2)

(1)

(3)

(4)

(2)

(3)

(4)

(4)

(3)

(2)

(3)

(1)

(3)

(4)

(3)

(1)

(3)

(4)

(2)

(4)

(3)

(4)

(4)

(4)

(3)

(2)

(2)

(4)

(2)

(4)

(3)

(2)

(3)




